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2019/February Braindump2go CCNP 300-080 CTCOL LAB Exam Dumps with PDF and VCE New Updated Today! Following are
some new 300-080 Real Exam Questions:1.]2019 L atest 300-080 Exam Dumps (PDF & VCE) 313Q&As Instant
Download: https://www.braindump2go.com/300-080.html 2.[2019 L atest 300-080 Exam Questions & Answers Instant
Download:https.//drive.google.com/drive/folders/OB75b5xY Lj SSNQ3VgWUNLRU1XVIk2usp=sharingQUESTION 285Y ou are
troubleshooting an IL S connectivity issue. All clusters are set to "Use TL S Certificates'. Which certificates must be exchanged
between Cisco Unified Communications Manager clusters?A. Tomcat certificates between all nodesin al clusters.B. TLS
certificates between publisher nodesin all clusters.C. Call Manager certificates between publisher nodesin all clusters.D.
Tomecat certificates between publisher nodesin al clusters.Answer: DQUESTION 286Refer to the exhibit. A Cisco Jabber user
moved from the office. Which description of the issue with the endpoint regiStration IStrUE? s icwsrusrn w925 msmiwsniea
Removing any exisiing DNS cache redords for_cinon sds._icp.ceocop.com. -
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- Abost 10 try Edge Service Location.
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A. The Android device does not have accessto the Internet.B.  The ISP is preventing Jabber from performing SRV lookups.C.
The Jabber user is within the enterprise.D.  The |OS device does not have avalid |P address. Answer: AQUESTION 287Refer to
the exhibit. Audio calls from a CSF device fail. Which command set likely resolves the issue?

Apr 23 18:14:08.331: ISDN 3e0/1/0:1% §531: Applying hyperpla

type Ox12 is Ox0 Ox0, Calling a

Apr 23 18:14:08.331: ISDN 8¢0/1/0:15 Q931: Sending SETUP cal

Ox00Al callID = Ox805A switch =

Apz 23 18:14:08.331: ISDN 3¢0/1/0:1% Q931: TH -> SETUP pd =

= OO0l

Bearer Capability i = Ox8850

Standard = CCITT

Transfer Capability = Unrestricted Digital

Transfer Mode ™ Circuit

Transfer Rate = &4 kbit/s

l;“-s“-*-J In i L E R b
WulL.Sralndump2

r:a.l].u-g Parcy Number i = Ox0081, *012345000°

Flan: Unknown, Type:Unknown

Calling Party Number i = (x80, '07037737911"

Plan:Unknewn, Type:Unknown

Apr 23 18:14:08.367: ISDN 8¢0/1/0:15 @931: RX <- SETUP_ACR |

callzef = OxB0AL

Channel ID i = OxAS8381

Exclusive, Channel 1

Apr 23 18:14:12.411: ISON S¢0/1/0:1% Q931: RX <-DISCONNECT p

eallref = Ox80AL

Cause i = Ox80D8 - Incompatible destination

A. configure terminal voice-port 0/1/0:15 output attenuation -4B.  configure terminal controller el 0/1/0 bearer-cap speechC.
configure terminal interface serial 0/1/0:15 output attenuation -4D.  configure terminal voice-port 0/1/0:15 bearer-cap speech
Answer: BQUESTION 288Refer to the exhibit. A Cisco Unified Communications Manager Extension Mobility enabled user
attemptsto log in to a new phone where Cisco Extension Mobility Cross Cluster Service is configured with the URL that is
displayed in the exhibit. The service is configured on a Cisco Unified CM 9.X or later Unified CM cluster. After the user enters the
user ID and PIN, the phone displays "Login is Unavailable (23)." Which configuration requirement supports Cisco EMCC and
avoidsthis error condition? hitp:/172.16.1.1:8080/zapp EMAppServipt?device=#DEVICENAME#&EMCC=#EMCC# | A. The device must be subscribed

to Cisco EMCC ServicesB. The
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given user 1D isnot found in the remote cluster.C. The user must associate adevice profile.D. The Cisco IP Phone Services
configuration for Cisco EMCC must set the enterprise subscription.Answer: AQUESTION 289Refer to the exhibit. An engineer
configured CCD between a Cisco Unified Communications Manager (CUCM) cluster and Cisco Unified Communications Manager
Express (CME). When the CUCM agentstry to dial a CME extension on the range 7XXX, they receive abusy signa as soon asthe
7 isdialed. What can be done to resolvethisiswe7'5“"‘""' |

Uy ABYEA] I E2Gcconis ,|

20159008 18 2524 Reachazie

A. Setthe CUCM CCD Requesting Service PSTN prefix to 9 instead of +B.  Set the CME profile dn-block type to extension
instead of globalC. Set the CUCM Hosted DN Pattern PSTN Failover Strip Digitsfield to 1 instead of OD.  Set the CME
subscribe callcontrol to instance instead of wildcardedAnswer: AQUESTION 290An engineer is analyzing an issue about system
connection under Cisco TM S connection, where endpoints handled by TM S automatically change from reachable on LAN to behind
the firewall status. Which protocol does the network engineer need to troubleshoot the network between managed device Cisco
TMS?A. SDPB. XMPPC. FTPD. HTTPAnswer: DQUESTION 291Which two types of call causes the user to hear the
reorder tone? (Choose two.)A. call to anumber that isworking but isunlistedB. restricted callC. call using a non-Cisco phone
D. cal toanumber that has been blockedE. unrestricted callAnswer: ABQUESTION 292Replication is failing between the
Cisco Unified Communications Manager Publisher and Subscriber servers.In which two ways can you verify the database
replication status? (Choosetwo.)A. TRACERTB. CLIC. APIC-EMD. PINGE. RTMTAnswer: BEQUESTION 293An
engineer isinvestigating voice quality degradation on calls passing through a particular SIP gateway. To gather the necessary
information, sample traffic captures are taken. Which information in the capture reveals the problem?A.  destination portB.
versionC. ToShitsD. MTUAnswer: BQUESTION 294Which Cisco Unified Communications Manager troubleshooting tool can
be used to look at detailed specific events, such asdial plan digit analysis, asthey are happening?A. RTMT real-time traceB.
Cisco Unified Dialed Number AnalyzerC. syslog outputD. RTMT performance log viewerAnswer : BQUESTION 295Refer to
the exhibit. An engineer is troubleshooting a video audio issue where the video endpoint logs are showing this error message.Which

two actions must the engineer take to fix the issue? (Choose two.) SIP/ 2.0 503 Service Unavailable Via: SIP/ 2.0/TCP 10.10.10.10:
5060;branch=z9hG4bK054956da2012413dfb6ef80d6bc9e373.1; rportFrom:
<sip:2000(@10.100.250.3>;tag=47c3821d0dbs5e laTo:

T000F10 1 T _l-,ra r,ﬁ‘) 1n,-l 1,.5‘4. rl..r} -l‘lcd n‘saa .

W?CI‘; *:497ﬂ4gcﬁﬂim$— deaeadady 2 4 U LI
Sat, 15 Apr2017 11:10:05 GMTCall-ID
dl4celbdcddefd063fadde654fab32edCSeq: 100 INVITEAllow-Evenis:
presenceReason: Q.850:cause=47Content-Length:0

A. Assign the transcoder to the MRGL, which isin turn assigned to the MRG; apply the MRG to the endpoint device pool of the
video.B. Assign the transcoder to the MRG, which isin turn assigned to the MRGL; apply the MRGL directly to the endpoint of
thevideo.C. Assign the transcoder to the MRGL, which isin turn assigned to the MRG; apply the MRG directly to the endpoint of
thevideo.D. Assign the transcoder to the MRG, which isin turn assigned to the MRGL ; apply the MRGL to the video's endpoint
device pool.E.  Assign the transcoder directly to the endpoint of the video.Answer: AEQUESTION 296An engineer is
troubleshooting an issue where aliases that contain an identity " @abc.com" are unable to register with an endpoint due to an entry in
the registration restriction configuration in Expressway-E. Where is the alias being blocked in Expressway-E?A. regex listB.
hunt listC. black listD. alow listAnswer: CQUESTION 297Which two statements about Cisco Unified CM location bandwidth
deduction are true? (Choose two.)A. If acal uses G.711, Cisco Unified Communications Manager subtracts 64k.B. If acall uses
G.711, Cisco Unified Communications Manager subtracts 80k.C. If acall uses G.723, Cisco Unified Communications Manager
subtracts 16k.D. If acall uses G.729, Cisco Unified Communications Manager subtracts 16k.E. If acall uses G.729, Cisco
Unified Communications Manager subtracts 24k.Answer: BEQUESTION 298Refer to the exhibit. Inbound calls viaa SIP trunk to
the Cisco | P phones that are registered on Cisco Unified Communications Manager are failing. Based on the Cisco CallManager
service trace, which action should you take to fix the issue?
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Invice to COOMfor the number €300

08212567.002 119:54:34.362 IAppInfo |5IFTcp- wais _SdlReadRsp: Incoming SIF TCP message
from 10.64.126.12 on porn 25091 index 791 with 1274 bytes: [JI3054%98,NET)

INVITE sip:€500@ves.abe.ong SIRV/2.0

Via: SIP/2.0/TCP 10.64.126.18:5060 egress-

Fone=CUCH; branchez IhG4bKEAZ L4 TedeebI ODS 03861032451 20406476, 33072395480
6Ec262ebd0IdbcI 62146 proxy-call-1de503a0192-320T=11e3-2a26=-00105320£95a; rpoTtT
Via: SIP/2.0/TLS 172.30.16.17:7001:egresa~

zene=Traversallone branch=23nG4biniitest0aidaed0oital e ddee il TE1508,. 57007
d302258dbSISEL00211d5861cle; proxy-call-1d=5020894c-320T7-11e3-add48-

010£3207bib-d s Teceiveds172.30.16.17: rporceTo0]; ingress-zonesTraversallone

Digit Analysis shows the following

082128551.000 |19:%4:34.384 |AppInfe |Digit Analysis: star DaReq:
MR&Q-ML‘!IE;Q:\!&&ECI‘.S"_“‘: (ledldefg-cTbe-£489-4 SSQ—QGOE{GQ}‘?"’} "

LA s e B e B ﬁ I j)_ SPRISEICE : DonacmtaL
poh o R AR s ik Bt I 8 ES L gt e ;12:- el G VTl
O82125981.002 119:34:34. 384 |AppInfo IDigithnalysis: Hn';t Addre cs.abc.org DOES HWOT
MATCH any active CUCM node in s cluster.

QR213551.003 119:54:34. 364 |Appinfe IDigitAnalysis: Host Addsess=ves.abe.oxg DOES WOT
MATCH top level org domsin.

08212581.004 |19:54:34.364 |AppInfs IDigitAnalysis: star DaReg:Matching SIP URL, Hsss
Domain, hosteabe.foc.acv

CUCHsends a SIF 404 not Jound

08212597.001 119:54:34. 265 1AppIafo |SIPTep- wait_Sd15PISignal: Outgoeing SIP TICP
message To 10.64.124.10 on porc 25091 index 791 [3385500,NET]

SIP/2.0 404 Notr Found

WVia: FIF/Z.0/TCF 10.64.126.18:35060:egreas=

sone=tUCH: branch=z PhFAbHESIfcd ToReebd DR SI0IRE1032051 34 I06476. 3307355 dacE6ci6lebdliddb
€29621d86; proxy-call=503a0152-3207-11e3-2ad 6~

A. Add xyz.com in the Organization Top Level Domain field on Cisco Unified Communications Manager.B.  Set the Incoming
Transport Typeto TLS on the SIP trunk security profile that is assigned to the SIP trunk.C.  Check whether the calling search space
for incoming calls on the SIP trunk has access to the partition of the Cisco IP phone that isbeing called.D. Add vcs.abc.org in the
Organization Top Level Domain field on Cisco Unified Communications Manager.Answer: CI'!RECOMMEND!!!1.|2019 L atest
300-080 Exam Dumps (PDF & VCE) 313Q& As Instant Download: https://www.braindump2go.com/300-080.html 2.]2019 L atest
300-080 Study Guide Video Instant Download: Y ouTube Video: Y ouTube.com/watch?v=0sIDkU7Y 7b0
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